S g Pl @] IS

HIGH PERFORMANCE LIGHTING

UNIVERSAL SINGLE LAMP MOUNT

/ B

51
Fa=e

support@lazerlamps.com +44 (0)1992 677 374 Designed & Manufactured in Great Britain Rev.3 Instructions 01-09-17



et P €

HIGH PERFORMANCE LIGHT

PARTS IR
1. ROD END (Qty 8) I

2. DZUS BASE (Qty 4) <

3. DZUS CONNECTOR (Qty 4)

4. DZUS CONNECTOR PIN (Qty 4)

FASTENERS

. M6x70 STUD (Qty 2)
M6x120 STUD (Qty 2)
M6x20mm Bolt (Qty 6)
M6 Nyloc Nut (Qty 4)

M6 Hex Nut (Qty 8)
M6x20 Washer (Qty 2)
M6x12 Washer (Qty 4)

. M3x8 CSK Screw (Qty 8)
. M3 Nyloc Nut (Qty 8) = 4
10.M4x20 Screw (Qty 4) S
11.M4 Nylock Nut (Qty 4)

12.M4 Washer (Qty 8)

©ONDO A WN R

support@lazerlamps.com +44 (0)1992 677 374 Designed & Manufactured in Great Britain Rev.3 Instructions 01-09-17



A=

HIGH PERFORMANCE LIGHTING

M3x8 CSK SCREW (Qty 2)
M3 NYLOC NUT (Qty 2)

DZUS BASE (Qty 4)
DZUS CONNECTOR (Qty 4)

PwOpdPE

support@lazerlamps.com +44 (0)1992 677 374 Designed & Manufactured in Great Britain Rev.3 Instructions 01-09-17



S g Pl @] IS

HIGH PERFORMANCE LIGHTING

Front Rod Assembly Rear Rod Assembly

. ROD END (Qty 4)
. M6 NUT (Qty 8)
. M6x70 STUD (Qty 2)

. M6x120 STUD (Qty 2) @

IS
A OWN B

support@lazerlamps.com +44 (0)1992 677 374 Designed & Manufactured in Great Britain Rev.3 Instructions 01-09-17



rowonNE

S g Pl @] IS

HIGH PERFORMANCE LIGHTING

M6 NYLOC NUT(Qty 2)
M6x20 PENNY WASHER
M6x12 WASHER (Qty 3)
M6x20 HEX BOLT (Qty 3)

support@lazerlamps.com +44 (0)1992 677 374 Designed & Manufactured in Great Britain Rev.3 Instructions 01-09-17




S g Pl @] IS

HIGH PERFORMANCE LIGHTING

1. M5x6 GRUB SCREW (Qty 8)
2. STRAIGHT CONNECT (Qty 2)



S g Pl @] IS

HIGH PERFORMANCE LIGHTING

.o L S B
" e - s+

ll
il
el

fllh

o]

I i
iy [l
i i

iy I

o
o

____________________________________________________________

support@lazerlamps.com +44 (0)1992 677 374 Designed & Manufactured in Great Britain Rev.3 Instructions 01-09-17



S g Pl @] IS

HIGH PERFORMANCE LIGHTING

1. M4x20 SCREW (Qty 4)
2. DZUS CONNECTOR PIN ( (Qty 4)
3. M4 NYLOC NUT (Qty 4)

support@lazerlamps.com +44 (0)1992 677 374 Designed & Manufactured in Great Britain Rev.3 Instructions 01-09-17



S g Pl @] IS

HIGH PERFORMANCE LIGHTING

support@lazerlamps.com +44 (0)1992 677 374 Designed & Manufactured in Great Britain Rev.3 Instructions 01-09-17



